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(D) HEX (x+3)|z—4|+ 22 +6 =00z = Thd.

(2) Mifty =2 —322+1 L& (1, —DIZBTF2EHD, By =ar?+a T2 %, a=
Thd. HEL, a> 0T 5.

3) 5hs +gir —atbivhsiEa, bekDBY, a=[ T ], b= T, 2EL, ik
RO L 5.

(4) AEAEERE2MNA>TVERNH L. ZOBPLFAKICELZ SHE Y ZTEE, AEOENL &>
Y 2 HTH B HERI ThH5.
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(B) tan0 = 5 DL ¥, g oo = [ F | THB. 7L, 0<0< 5 &35,

(6) FFx x> 10#HFAZ2H< &%, logsx + 3log, 3 DE/IMEIX Th5.

(T) B f(2) #5988 a LT, SR [ f(Odt =2+ a2 —6x—a?—9 &l T L %, a il [ 7]
Th%.

(8) AABC D BC LIz D 4% Y, AABD & AACD OEROLAS: 2 THB L%, AD= [ 7 |AB+

[T JACTH5.




